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1.2 Category &M (1. Tho] 3 E)
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1.2 Category &4 (2.
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1.2 Category 24 (4. A4
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2. Features to be
& not to be tested

2.1 Features to be tested
2.2 Features not to be tested



2.1 Features to be tested (A1)
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2.1 Features to be tested (1. Tfolj 2. E
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2.1 Features to be tested (1. Ttolj 2. E)
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2.1 Features to be tested (2. EH8 B C)

2_004 A BHHEER 238

Display example

oy =W 201749 0908 07¥ 054 208

s g% 20,000
45 =% 57 7L ;500 7 =0 29 : 2,500
45 2=2F . 4 7 CEZ1 2 1,000 ; TOf 2 - 4,000

2_005 27

Display example

20173 098 07 054 208

rigt | rE
=

M

2| &

ol | ng

20,000

2_006

ol | ofy
02

rE
bt | 22

D YYYY.MM.DD.hhomm (3.2 28.AL8)
MM.DD (9.2.2)

oF it b of (o
of iz E |

45

L T HOof 399
o5 7L = Hif 39
=HE 2% 1x




2.1 Features to be tested (3. 2§ &ol)

3_000

3_001
3_002

3_003
3_004

=

(&& T YYYYMMDD_product.txt, 0 =5 mH:
YYYYMMDD_sale_management.txt) 2| 270 2| NI 7} SHFEE)7t K|
L & & Ohg, Eof 22| oIE2 Ot ER2 M2 4-90| &0

SIE(RE)7) RA|LMH AE mpo| I E AEL2 10072 X735 EICt,

AL MEOA S A
1 MEE Sastn g

((stock_ YYYYMMDD.txt)I} & S
Lo S0|AHLt &= &

0
IHtI

=2
rir
>
s 0
o
ro
jo
ot
>
zQ
im}

W s %A

SR VYYY.MM.DDhh.mm (82208
45, T o

45, ©7hL Mo




2.1 Features to be tested (4. A4H

ZEIHY|S

4 000 T2 FFE Z IPAM Al 7|=0| FTIAHSIH A|ZH0| O] X| =&
- C.
4 001 i A7 320 X|LtH St&71 HO{ 7t (settle_YYYYMMDD.txt) I}
B U= Moot
4 002 OlF SOt Lo E L2 0 AMB{0| A BFOFR}
- O| 83l ZHIC} (HAS EHo= A2 (settle YYYYMMDD.txt) It
2 MMSt=E Ao 2 LSt
4 003 A2 POSTZt 7| &2 otHQ 20| A2 FIH
- S0|l= &t=271 = 20 dAHO] I EICE,
4—004 H4 945 oA
U vYYY.MM.DD (S22
ool 345

o

]

5. &7 =2 o™

=7k

—1OH .
[= Han

uE
2=

1
o
ol
2

oW 2 o

1
o
ol
R

ooy o

b

Ttz
—A0OH .
[= R | .

1
oy
]
2

ook
Mo off




2.2 Features not to be tested

POSTE 7HM =tT(HA =3 chE o83 &of, &=, M2 =S 8 =+ S
xa29
=27
e B2 7iM =T EA 23ghe 14 51830 44 G o[E FHOf
posSTE] B = 2L EHE 82 Cygwin Console(Cygwin Bash Shell& CHH| EHCE
POSTE] =8l E M8 BE FEH2 H2E Itg Y42 = 4T
B =0 tigt B8 =& 1ms O|SHO|C}
M=
=¥

=> [} BIAEE XSG 2018 & QI= LHEHSOICH.



2.2 Features not to be tested

e Mws 4 ok

5150 A
METZE FHA

7l

i
—

POST

ol
w|J

I
il

stEHEA =38he 7|2 =39

—_
—_

POST

Of Zo, HOf =

=1
=

g2 posTAE 7l =HET FF0AMT I

= == EHAH
O = 0l7LE

POST

|.

i
[

L
| -

POST

toj

I
—

= OlE5

iA =3 (EA =3 E)

7

—
—

POST

ful
ol
HID

=<0

OICk.

I,



2.2 Features not to be tested
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3. Test Case

3.1 %l



3.1 Test Case (1)
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3.1 Test Case (1. Ttoj 2 E)
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3.1 Test Case (1. Ttoj 2 E)
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3.1 Test Case (2.
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3.1 Test Case (2. 88 B C)
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3.1 Test Case (3. 2|1 &kol)

3_000_000
3_000_001
3_001_000
3_001_001

3_002_000

3_002_001

DHXHO01)Q| 1S 987H2 K1 o7
(38)0] HojZ IjE 7|ctict

1.000_0062| <fE{Of| A EOHES ot oFF
3=)0| Boi& WS 7|ChECh

kX012 LS 98712 HEF 1 S F
3=)0| E0i& WS 7[CHEICY.

1.000_0062| ATEOJA TS 3} 1 &2
(3E)0] Ho{Zt = y|ctalct
812(35)0] X|Lt7| Hoj WAHO01)2| XY
nE 9gilE WD MALS At 7|
A3 2folg sy,

SFE(R32)0| X|Lt7| o 1000 0062| A
EHOIA] ZHOHE St MAS ZICH 7|0 XY
1 2ol B,

& Ohe, mof 22| ohol e ERE
Mz 4-gECt.

& Ohe, mof 22| oh2ol e ERE
Mz 4-gECt.

JdE0Ye B= &E2 100702 Z=7|3tch
Ct.

JdEMES B= &EF2 100702 Z=7|3tch
Ct.

WA sHHEO| D HEZ EHE[D
stock_YYYYMMDD.txtIt &S O|&sf xf 2
HEE 9ot & 10 JLE0|EE 1t
Xto| X i1= 987K 04 OfF SHCH,

WA sHHO| D HEZ EHE[D
stock_YYYYMMDD.txtIt 22 O|&sf Xf 2
MEE EHolICt & Mo YLo|E2 4
9| 0= 997K O Of SHCt,
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3.1 Test Case (4. A4
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3.1 Test Case (4. A4
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4. Team 5 Result

4.1 Test Result(0)
4.2 Test Result(1)
4.3 Test Result(2)
4.4 Test Result(3)
4.5 Test Result(4)



4.1 Test Result (0_000)

Id Result
0_000_000 Passed
0_000_001 Passed
0_000_002 Passed

1000 | _price :

<0_000_000> <0_000_001> <0_000_002>



4.2 Test Result (1_000)

Id Result
1_000_000 Passed
1_000_001 Passed
1_000_002 Passed
1_000_003 Passed
1_000_004 Passed
1_000_005 Passed
1_000_006 Passed
1_000_007 Passed

1_000_008 Passed



4.2 Test Result (1_000)

001

asher Screen
snack quantity :
otal Sale Maney
Receive Money
Send Money

1] price : 1000 | sum_price :

lient Screen
otal Sale Maoney
Receive Money
Send Money

<1_000_000>

1 100

asher Screen
snack quantity :
1ce_creanm quantity :
fruit quantity :
water quantity :
otal Sale Money
Receive Money
Send Money

| price : sum_price :
| price : sum_price :
| price : sum_price :
| price : sum_price :

1
1
1
1

Tient Screen
otal sale Money
Receive Money
Send Money

<1_000_003>

Fale Mode

: 010

snack quantity : 1]
1Ce_crean quantity : 1| price :
otal Sale Money

Receive Money
Fend Money

Tient Screen
otal Sale Money
Receive Money
Fend Money

<1_000_001>

5ale Mode
Barcode Input
-> Barcode : 101

asher Screen
snack quantity : price :
ice_cream guantity : price :
fruit gquantity : price :
water quantity : price :
quantity : price :

Tient Screen
otal Sale Money
Receive Money
Send Money

<1_000_004>

price : 1000 | sum_price :
1500 | sum_price :

sum_price :
sum_price :
sum_price :
sum_price :
sum_price :

: 011

asher Screen
snack quantity :
ice_cream quantity :
fruit quantity :
otal Sale Money
Receive Money
Send Money

1| price :
1| price :
1| price :

Tient Screen
otal Sale Money
Receive Money
Send Money

<1_000_002>

: 110

Casher Screen
snack quantity :
ce_cream quantity :
fruit
water
ramen
beverage
Total Sale Money
Receive Money
Send Money

Client Screen

<1_000_005>

1000 | sum_price :
1500 | sum_price :
3000 | sum_price :

sum_price :
sum_price :
sum_price :
sum_price
sum_price :
sum_price




4.2 Test Result (1_000)

ale Mode
Barcode Input
-= Barcode : 000
Wrong Input!

1| price : 1000 | sum_price :

10000
]
]

2 | price : 1000 sum_price :

<1_000_006>

<1_000_008>



4.2 Test Result (1_001)

1_001_000 Passed
1_001_001 Passed
1_001_002 Passed

1_001_003 Passed



4.2 Test Result (1_001

Quantity Change Mode
1. snack 2.ice cream 3.fruit 4.water 5.ramen 6.beverage 7.coffee

2
[uantity Change Mode
snack 2.ice cream 3.fruit 4.water 5.ramen 6.beverage 7.coffee Casher Screen
snack quantity : 1000 | sum_price
Total Sale Money

Receiwve Money
send Money

asher Screen Pe F T ———
snack quantity : 3 | price : 1000 | sum_price : Total Sale Money
otal Sale Money Receiwve Money
- Send Money
Receive Money
lsend Money huantity Change Mode
snack 2.ice cream 3.fruit 4.water 5.ramen 6.beverage 7.coffee

1
Tient Screen G 2. )22
otal Sale Money
Feceive Money asher Screen
lsend Money snack quantity : 3 : 1000 | sum_price =
otal Sale Money
Receive Money

QJuantity Change Mode Fend Money

snack 2.ice cream 3.fruit 4.water 5.ramen 6.beverage 7.coffee

Tient Screen
otal Sale Money
Feceive Money
Fend Money
snack quantity : : 1000 | sum_price : Quantity Change Mode

Sale Money 3.fruit 4.water 5.ramen 6.beverage 7.coffee
Receive Money
Send Money

Tient Screen asher Screen
Sale Money snack quantity : 2 H 1000 | sum_price =
otal Sale Money
Receive Money
Send Money
Quantity Change Mode

1. snack 2.ice cream 3.fruit 4.water 5.ramen 6.beverage 7.coffee o
- 1 ient Screen

1. (+) 2. (-) 1 otal Sale Money
Receive Money
Send Money

asher Screen
snack quantity : 5 | price : 1000 | sum_price : Casher Screen

snack quantity : 1| price : 1000 | sum_price
Total Sale Money
Receive Money
Send Money

Client Screen
Total Sale Money
Receive Money

< > Send Money
1_001_000 <1_001_001>




4.2 Test Result (1_001)

<1_001_002>

v Change Mode
< L. 108 Crean

<1_001_003>



4.2 Test Result (1_002)

Quantity Change Mode
5 Z.ice cream 3.fruit 4.water

guantity : 102 | price : 1000 | sum_price

e Money

eive Mon

Send Money




4.2 Test Result (1_002~1_003)

Id Result
1_002_000 Passed
1_003_000 Passed
1_003_001 Passed

Money Received Mode
anged Mode

eceived Mode . i
efund Mode Received Mo

heck Mode Received Mon

r Mode) Recelved
Received Mon
Received Mo

nge e
ice cream 3.fruit 4.water 5.ramen

1

reen
1| price : 1000 | _price :
y1d out
1| price : 1000 | sum_price :

Send Money

<1_002_000> <1_003_000> <1_003_001>




4.2 Test Result (1_004~1_010)

Id Result
1_004_000 Passed
1_005_000 Passed
1_006_000 Passed
1_007_000 Passed
1_008_000 Passed
1_009_000 Passed
1_.010_000 Passed

Cazher Screen
snack quantity : 1| price : 1000 | sum_price : 1000
otal Sale Money 1000

teceive Money 1000
Send Money 0

Client Screen

otal 5ale Money 1000
teceive Money 1000
Send Money 0

<1_004_000, 1_008_000, 1_009_000>




4.2 Test Result (1_004~1_010)

=] sale_201712142350.txt 2017-11-20 &% 2=
<1_005_000>

= 20171214 _product bt 2017-11-20 2% ELE

20 2% B

=] 20171214 _sale_management.fxt

<1_006_000, 1_007_000>

mj sale 2017121423504t - HE2&

mEE EHEE MU0 2N EEEH
Feceipt HNum @ 2017.12. lil 23 B0 A2 .2 ALLE)
Date - 2017, 12 1403 2.4

Sale Product

Mame, Price, Guantity, Sum_price

spack, 1000, 1, 1000

Jntal Sale Price - 1000

<1_010_000>

EIRRE|]
b

5



4,3 Test Result (2_000~2_001)

2_000_000 Fail (t= Y/N & S715)
2_000_001 Passed
2_000_002 Passed
2_000_003 Passed
2_000_004 Passed

2_001_000 Passed



4,3 Test Result (2_002~2_006)

2_002_000 Passed
2_002_001 Passed
2_003_000 Passed
2_003_001 Passed
2_004_000 Passed
2_005_000 Passed

2_006_000 Passed



4.3 Test Result (2_000)

Sale Mode
Quantity Changed Mode
Money Received Mode
rRefund Mode

5. Stock Check Mode

(-1 : Power Mode)

Refund Mode
Refund Receipt Barcode : 201711201535

quantity : 1000 |
otal Refund Money

Tient Screen
2017.11.20 20:24
Refund Money

Sale Mode

Quantity Changed Mode

Money Receiwved Mode

Refund Mode

stock Check Mode
Power Mode)

Refund Mode
Refund Receipt Barcode : 200711202211

Casher Screen
Date
=nack quantity
Hice_cream quantity
fFruit quantity
water quantity
ramen quantity
bewverage quantity
coffee quantity
Total Refund Moneyw

2017.11.21 10:
Refund Moneyw

<2_000_003>

Sale Mode
Quantity Changed Mode
Money Received Mode
Refund Mode
Stock Check Mode

: Power Mode)

Refund Mode
Refund Receipt Barcode : 201711201535
2017.11.20 20:24
1 | sum_price : 1000

1000
asher Screen

Dsplay
an not Refund this Receipt

<2_000_002>

Sale Mode
Quantity Changed Mode
Money Receiwved Mode
Refund Mode
Stock Check Mode

(-1 : Power Mode)

2017.11.21 10:08
sum_price : 1000
sum_price : 1500
sum_price 3000
sum_price : SO0
sum_price : BO0O
sum_price : 1200
sum_price : 2000

10000 azher Screen
D=l ay
amn not Refund this= Recelpt

<2_000_004>

Refund Mode
Refund Receipt Barcode



4.3 Test Result (2_001~2_003)

Changed Mode
eived Mode

1101201

Can not Refund this Receipt

<2_001_000>

| refund_201711202024 =t

| refund_201711211008.b4

<2_002_001>

Date : 2017.11.20 (4.

Sale Product

Hame, Price, Ouantity
snack, 1000, 100
Hame, Price, Quantity
ice_cream, 1500, 100
Hame, Price, Quantity
fruit, 3000, 100
Hame, Price, Quantity
water, 500, 100

Hame, Price, Quantity
ramen, 800, 100

Hame, Price, Quantity
beverage, 1200, 100
Hame, Price, Auantity
coffee, 2000, 100

<2_003_

2.)

000>

Jate © 2017.11.20 (4,2, Y Date

sale Product

dame, Price, Quantity
snack, 1000

dame, Price, Quantity
ice_crean, 1500, 39
{ane, Price, Buant\tv
fruit, 3000,

dame, Price, Duant\tv
water, 500, 53

dame, Price, Quant\tv
ramen,

Yane, Price, Quant\ty
severage, 1200,

dame, Price, Quantity
coffee, 2000, 599

=gale Product

Mame, Price, Quantity
snack, 1000,

Mame, Price, Huantity
ice_crean, 1500, 101
Name, Price, Quantity
fruit, 3000, 101
Nane, Price, Quant\tv
water, 500,

Wame, Price, Quant\tv
ramen, 800, 101

Name, Price, Guantity
beverage, 1200, 101
Wame, Price, Huantity
coffee, 2000, 101

<2_003_001>

sEmrare (4.2

(nw)

(]



4.3 Test Result (2_004~2_006)

sale Mode . N

refund_201711202024 .t - D 2E
eE BEE HN0 2 ESTH)

Receipt Num : 2017, H EEI EIZI 20 (A 2 2 Al
: Cate - 2017, 11 20 -4 2
Refund Mode Pefund Product
Refund Receipt Barcode : 201711201535 Name, Price, Ouantity, Sum_price

snack, 1000, 1, 1000
Total Refund Price - 1000

C quantity : 1000 | price : _ l:-:h :
efund Money 1000 <2_006_000>

Client Screen
Dat 2017.11.20 20:24
otal Refund Mone 1000

<2_004_000, 2_005_000>

HI



4.4 Test Result (3_000~3_003)

Id Result

3_000_000 Fail (20} == ItO| M7t XLt M2 g QehE)
3_000_001 Fail(")

3_001_000 Passed

3_001_001 Passed

3_002_000 Passed

3_002_001 Passed

3_003_000 Passed

3 003 001 Passed

3_004_000 Passed



4.4 Test Result (3_000)

D 20171120_product txt 2017-11-20 2% 3:59 D 20171120_product txt

=] 20171120_sale_management txt 2017-11-20 2% 3:39 5] 20171120_sale_management txt

| sale 201711201558 txt 2017-11-20 2% 3:59 E| 20171121 _product txt

= sale_receipt_list txt 2017-11-20 2% 3:59 5 sale 201711201558t
<3_000_000>

D 20171120_producttxt 2017-11-20 2% 416

=] 20171120_sale_ management txt 2017-11-20 2% 416 D 20171120 _product bt

E sale_201711202014 txt 2017-11-20 2% 416 E] 20171120_sale_management txt

= sale_receipt_list txt 2017-11-20 2% 416 ] 20171121_product txt

D stock 20171120t 2017-11-20 2= 416 -

<3_000_001>
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| >
5
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L
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4.4 Test Result (3_001)

OB

171120 _producttet - HE2%E

HEED MHNQ EJAW

Lt

[ate
snack,
fruit,

water,

ramen,

DEmwren (492
sale Product
Mame, Price, Huantity

1000, 959

Name, Price, Guantity
ice_cream, 1500, 99
Mame, Price, Cuantity

3000, 583

Mame, Price, Guantity

500, 99

Mame, Price, Huantity

800,

Mame, Price, Guantity
beverage, 1200, 99
Mame, Price, Guantity
coffee, 2000, 399

2

Name,
snack,
Name,
iCe_Cr
Name,
fruit,
Name,
water,
Name,
ramen,
Name,

Name,

coffee,

sale Product

Price, Huantity
1000, 89

Price, Muantity

eam, 1500, 99

Price., Huantity
3000, 99

Price, Quantity
ROO, 99

Price, Huantity
aao,

Price., Muantitw

beverage, 1200, 99

Price, GQuantity
2000, 99

| 20171120 _product bt - HEH
oEE BEEE MHAMO 270 5
Pate - 2017.11.20 (4.2 .2

2] 20171121 _product it - H2E

oaE =EED

AHQ 2/ ESEH)

Date : 2017.11.21 (4 &
Sale Product

Hame, Price, Quantity
snack, 1000, 100
Mame, Price, Guantity
ice_cream, 1500, 100
Hame, Price, CQuantity
fruit, 3000, 100
Wame, Price, Quantity
water, 500, 100

Hame, Price, Huantity
ramen, 900, 100

Hame, Price, Quantity
beverage, 1200, 100
Wame, Price, Guantity
coffee, 2000, 100

oHEFE EED®

2

2| 20171121 _product tt - HI2%
MA@ 27N EEZH

Sale Product

Hame, Price, Guantity
snack, 1000, 100
Mame, Price, Guantity
ice_cream, 1500, 100
Mame, Price, Cuantity
fruit, 3000, 100
Hame, Price, Guantity
water, 500, 100

Mame, Price, Guantity
ramen, 800, 100

Hame, Price, Guantity
beverage, 1200, 100
Mame, Price, Guantity
coffee, 2000, 100

Date @ 2017.11.21 (3.

2

<3_001_000>

<3_001_001>



4.4 Test Result (3_002)

ne
ra

stock_20171120.6¢t - HIZE
OEF BEE M40 271V

.Heceipt Mum Date : 2017.11.20.18.23 (4 . & .
Date - 2017.11.20 (4. & .2 Wame, Price, Guantitw

Sale Product
Mame, Price,
snack, 1000,

i
g 1%
e
=
Al

S 1) O I =

Quantity, Sum_price
2, 2000

Total Sale price : 2000

<3_002_000>

snack, 1000, 93

Wame, Price, Quantity
ice_cream, 1500, 100
Hame, Price, Cuantity
fruit, 3000, 100
Mame, Price, Guantity
water, 500, 100

MWame, Price, Quantity
ramen, 800, 0

Mamz, Price, Quantity
beverage, 1200, 100
Wama, Price, Quantity

coffee, 2000, 100

quantity :

2. Power OFf : 2

2 | price :

1000 | sum_price :




4.4 Test Result (3_002)

stock 2017172004 - HE2F 1. Power On 2. Power OFF : 2
| HEm HEE M40 = SSEH) | mm BEE ANO) 27V ESTH) PO5 OFF
Receipt Hum - 2017,11.20.19,48 (9. 2.2 [Date - 2017.11.20.25.51 (9.2 9,4 =)
Date : 2017.11.20 (4 . 2.2) Name, Price, Quantity
sale Product snack, 1000, 99
Name, Price, Quantity, Sum_price Mame, Price, Quantity
snack, 1000, 1, 1000 ice_cream, 1500, 949
Mame, Price, Quantity, Sum_price Mame, Price, Quantity
ice_cream, 1500, 1, 1500 fruit, =000, 99
Mame, Price, Wuantity, Sum_price Mame, Price, Huantity
fruit, 3000, 1, 3000 water, 500, 99
Mame, Price, Uuantity, Sum_price Mame, Price, Quantity
water, 500, 1, 500 ramen, 800, 99
Name, Price, Quantity, Sum_price Mame, Price, Quantity
ramen, 800, 1, 800 , beverage, 1200, 949
Mame, Price, Quantity, Sum_price Mame, Price, Quantity
beverage, 1200, 1, 1200 coffee, 2000, 99
Name, Price, Quantity, Sum_price . Mode
coffee, 2000, 1, 2000 (-1 : ode)
Total Sale price : 10000

quantity : 99 : 1000

quantity :

<3_002_001>



4.4 Test Result (3_003~3_004)

1| price : 1000 | sum_price : 1000
1000

o

0

1000
o

quantity : 1000 | price : 0
= 1000

2017.11.21 05:04
1000

Date : Z017.11.20.18.23 (9.2 2 Al .2
<3_003_000> Mame, Price, Ouantity <3_003_001>
snack, 1000, 93
Name, Price, Quantity
ice_cream, 1500, 100
Name, Price, GQuantity
fruit, 3000, 100
Mame, Price, GQuantity
water, 500, 100
Mame, Price, Quantity
ramen, 800, 100
Name, Price, Quantity
beverage, 1200, 100
Name, Price, Guantity
coffee, 2000, 100

<3_004_000>




4.5 Test Result (4_000~4_004)

Id Result
4 000_000 Passed
4 001_000 Passed
4 001_001 Passed
4 001_002 Passed
4 002_000 Passed
4 003_000 Passed
4_003_001 Passed
4 003_002 Passed
4 003_003 Passed
4 004_000 Passed

4_004_001 Passed



4.5 Test Result (4_000)

quantity : 1| price : 1000 | sum_price :

quanti H 100 | price :

<4_000_000>

1
1000
0

1000
1000
0

sale_201 711201748ttt - HEFEH
meE BERE MAQ 27w ESTw

Beceipt Num : 2017.11.20.17.48 (49 . & & Al.2
Date - 2017.11.20 (4 . & 21

Sale Product

Wame. Price, Cuantity, Sum_price

snack, 10004, 1, 1000

Total Sale Price - 1000

| stock 2017112004 - B2
oEE EEE MY EV N EEERH

Date - 2017.11.20.018.12 {4 & .2 Al .2
Mame, Price, Quantity
snack, 1000, 99

Mame, Price, Quantity
ice_cream, 1500, 100
Mame, Price, Quantity
fruit, 3000,

Mame, Price, Quantity
water, 500, 100

Mame, Price, Quantity
ramen, 800, 100

Mame, Price, Quantity
beverage, 1200, 100
Mame, Price, Quantity
Fuffee, 2000, 100

20171120_product txt 20i7-11-20 2
20171120 _sale_management.bd 20017-11-20 2
sale 201711201748 ok 2017-11-20 =2
sale_receipt_list ot 2017-11-20 2
save data b 20017-11-20 2
stock_ 20171120 &t 2M7-11-20 2



4.5 Test Result (4_001)

=] settle_ 20171121 0

<4_001_000>

|£| settle 20171122 tut

<4_001_001>

=] settle 201711231t

<4_001_002>

]
]

ra

ra

17-11-20

]
ra

£ 20171120_product bt 2017-11-

E| settle 20171121 txt 2017-11

=] settle_20171122.txt 2017-11

=] settle 20171123 txt 2017-11
2% 5:01 Mj settle 20171121 ot - HEE

18]
Jiit
wn

2
[Ln]
{ul
on
2

oEEH EEE

] ] ]
[ N % R % B

MM 271w
Date @ 20017.11.21

.22
Sale Product
Total Sale Price - 0O

Fefund Product
Total Refund Price - 0O

) settle_20171122 ¢t - HEH
ngE HEE MAO 27N

Date - 2017, 11,22 (4 . & 2
Sale Product
Total Sale Price - 0O

Fefund Product
Total Refund Price - 0O

) settle 20171123 4xt - HEE
DUE BEE M40 27w

Date - 20171123 (4.2 &)
Sale Product
Total Sale Price - O

Refund Product
Total Refund Price - 0O

{i
HI
LT - |

{i
HI
fose

Lo R S s N |
o jo jo jo
fit
i
[ N o B s B |

-l

{i
AR



4.5 Test Result (4_002)

= 20171120_product txt 2017-11-20 ©= 512 [E] 20171120 _product txt 2017-11-20 2% 512
= EE":'"EE'_SEIHE' ma.na ement.txt ;:* ;: :s 512 = 20177120 s3le_management it oI == S
F1120_sale_manag ' - - B S 20171122_product.txt 2017-11-20 2% 5:16
=] sale_201711201730.6 2017-11-20 2% 512 =] sale 201711201750.64t R ERIE R
sale AN K - Ul - -l == 201
|=] sale_receipt_list txt 2017-11-20 2% 512 T e _
|=| sale_receipt_listbd 20017-11-20 2= 512
| sale_201711201750.t¢t - 2R El save_datatxt 2017-11-20 2% 5:16
171921 2017-11-20 2= 513
oDE EBEEE MAOQ 270N ESZH) = SE“:E—EE 21.bd - 5
= settle 201717122 0t 2007-11-20 2= 5116
feceipt fun : 2017, 11, EEI 17,50 (2. 2.2 AL.2) = settle. -
Date - 2017.11.20 (A 2 ” -~
Sale Product | ) settle 20171122 txt - 2%
Wame, Price, GQuantity, Sum_price o ey R R _ _
snack, 1000, 1, 1000 LEFR BEE MN0) =NV ESEH | mem EBEE Mo 2V 22
Total Sale Price : 1000 Date © 2017.11.21 (4. 8.2 Date : 2017.11.22 (A, &.2)
Sale Prnl;luct . . sale Product
Mame, Price, Cuantity, Sum_price Mame, Price. Quantity, Sum_price
snack, 1000, 1, 1000 snack, 1000, 1, 1000
Total Sale Price - 1000 Tatal Sale Price : 1000
RBefund Product . Fefund Product
Total Refund Price : 0O Total Refund Price : 0

<4_002_000>



4.5 Test Result (4_003)

| 20171120_product ot 2017-11-20 2% 5:22 5z POST Main.exe 2017-11-20 2H 10:5

| 20171120_product. t=t 2017-11-2

. 5ale Mode

hanged Mode

2= 527 E
2017-11-20 3

7 = dx

| 20171120_product b 2017-11-20 2= 522
1| price : 1000 | sum_price : 1000 o
| 20171122_product. txt 2017-11-20 2% 528
| 20171122 _sale_management.fxt 20M7-11-20 2= 5:28
| sale 201711221638.04 2017-11-20 2= 5:28

1000 | sale_receipt_list bxt 201 7-11-2

1000

o | settle_ 20171122t 2017-11-2

<4_003_001>



4.5 Test Result (4_003)

| seftle 20171122 0
| seffle 20171123 0t

¢ Changed Mode

celved Mode

Refund Mode
Refund Receipt Barcode :

k quantity :
otal Refund Money

nt Screen
017.11.24 21:09
otal Refund Money

<4_003_003>

1000 | price :

- - o= 520

2017.11.24 21:09
1| sum_price : 1000
1000

1000

| settle_201
| settle_201

f'f;é t?g I::]::-:Z A

9= 534

2017-11-20

| refund_201711242100 ¢t

| settle_201
| settle 201
| settle_201

Ll

-

L

L

1122tk

111230
11240

L T

()



4.5 Test Result (4_004)

<4_004_000>

) settle 201711214t - HEE

oeEE HEEEG M40 2700 &=

Pate - 2017.11.21 (4. & .2
sale Product

Mame, Price, Quantity, Sum_price
snack, 1000, 1, 1000

Total Sale Price @ 1000

Refund Product
Total Refund Price - 0O

<4_004_001>

| settle_20171124 txt - HEH
oYE BEE MAQ 27N E2TH)

Date - 2017.11.24 (4 . & 2
male Product
Total Sale Price - O

Fefund Product

Wame, Price, Cuantity, Sum_price
snack, 1000, 1, 1000

Total Refund Price - 0O



5. Team 6 Result

5.1 Test Result(0)
5.2 Test Result(1)
5.3 Test Result(2)
5.4 Test Result(3)
5.5 Test Result(4)



5.1 Test Result (0_000)

Id

0_000_000
0_000_001
0_000_002

Result

Passed
Passed

Passed

product
refund :

TERMINATE SALE[0] REFUND[1] ([2] TERMINATE

REFUND[1]

<0_000_000>

<0_000_001>

<0_000_002>



5.2 Test Result (1_000)

Id Result
1_000_000 Passed
1_000_001 Passed
1_000_002 Passed
1_000_003 Passed
1_000_004 Passed
1_000_005 Passed
1_000_006 Passed
1_000_007 Passed

1_000_008 Passed



5.2 Test Result (1_000)

Touch Screen

Touch Screen

Touch Screen

amount : 1000

product name
snack

amount : 2300

product name
snack
ice-cream

amount : 3500

product name
snack
ice-cream
fruit

| ADD[+] MINUS[-] BARCODE [code]
L

MINUS[-] BARCODE [code]

MINUS[-] BARCODE [code]

command : |

**help** : if you stop this action, enter "quit’

<1_000_000>

Touch Screen

Touch Screen

amount : 8000

product name
snack

fruit
water

amount : 6800

product name
snack
ice-cream
fruit

water

ramen

if you stop this action, enter "quit’

Touch Screen

amount : 8000

product name
snack
ice-cream
fruit

water

ramen

drink

A MINUS[-] BARCODE [code]

MINUS[-] BARCODE [code]

command: |

T
|

L

|

|

|

|

|

| :

| ice-cream
|

|

|

|

|

L

|

L

|

|

hel : if you stop this action, enter "quit’

<1_000_003>

: if you stop this action, enter "quit’

<1_000_004>

command :

: 1f you stop this action, enter 'quit’

|ADD[+] MINUS[-] BARCODE [code]
L

<1_000_005>




5.2 Test Result (1_000)

| Touct Touch Screen
oucn o
1 10000

amount

count
1

EL
|

|

I . . t nam i count
|

|

|

|

|

|

|

|ADD[+]

alue

op this action, enter "quit’

<1_000_006> Touch Screen <1_000_007>

amount




5.2 Test Result (1_001)

1_001_000 Passed
1_001_001 Passed
1_001_002 Passed

1_001_003 Passed



5.2 Test Result (1_001)

amount : 1000 amount : 1000

<1_001_001>



5.2 Test Result (1_001)

Touch Screen

product name

ADD[+] MINUS[-] BARCODE [code]

command :

#*help** : iT you stop this action, enter "gquit’

<1_001_003>

Touch Screen

product name

ADD[+] MINUS[-] BARCODE [code]

command :
[ERROR] Invalid walue
“*help** : if you stop this action, enter "quit’

<1_001_004>

Customer Screen

product name

Customer 5creen

amount

product name




5.2 Test Result (1_002~1_003)

Id Result
1_002_000 Passed
1_003_000 Passed
1_003_001 Passed

e —
| Touch Screen

amount : 1000

product name price count
snack 1000 1

MINUS[-] BARCODE [code]

Invalid value
= 1 1f you stop this action, enter "quit’

<1_002_000>

|
Customer Screen
e EE———————————————————————————

amount : 1000

product name price count
snack 1000 1

|



5.2 Test Result (1_002~1_003)

Touch Screen

Touch 5

: 1000

count
1

SALE[O] REFUND[1 ] TERMIMATE[3]

mand :

: Insufficient amount

<1_003_000> <1_003_001>



5.2 Test Result (1_004~1_010)

Id Result
1_004_000 Passed
1_005_000 Passed
1_006_000 Passed
1_007_000 Passed
1_008_000 Passed
1_009_000 Passed
1_010_000 Passed

<1_004_000, 1_008_000, 1_009_000>



5.2 Test Result (1_000)

=| sale 201711281131 &t

<1_005_000>

1 20171120_product txt - 2 A

oEE EEE 440 27N =EEH)

.
ra
[}
Lol
i
o
ra
on

| sale_ 2017112811316t - HEH
OHeE BHEE Mg 270 EEYH

[[product] [price]

snack 1000

i Ce—Cream 1500

fruit 3000
water 500
Famen 800

drink 1200
coffes 2000

total sales © 1000
total refund = 0

<1_006_000>

| 20171128 sale_management.txt - 2%
oEE BEEE M40 E/N ESEH

[sale record]

code [l amount || monew || change ||
10 1]

|
20711281131 1000

[list] snacki1) ice-cream(0) fruit{0) wateriO) ramen{0) drink(0) coffee(O)

[refund record]

<1_007_000>

receipt code - 20017.11.28.11.31
date - 2017.11.28
sale product |ist

[prdouct name] [price]l [count]
snack 1000
sale amount - 1000

<1_010_000>



5.3 Test Result (2_000~2_001)

2_000_000 Fail (58 40X A1)

2_000_001 Fail (@352 FA2WZ0H = =75t1L Invalid valueZ =LY)
2_000_002 Passed

2_000_003 Passed

2_000_004 Passed

2_001_000 Passed



5.3 Test Result (2_000~2_001)

T
| Touch Screen
L

|amount : 1000
|money : 1000
|change : 0O

product name
snack

SALE[0] REFUND[1] STOCK[2]

TERMINATE[3]

[POS] Are wou sure that wou wnnna this?(y, n)
Segmentation fault (core dumped)

~ /Tt eamé

<2_000_000>

T
| Screen
L

| amount : 3000
|money : 4000
| change : 1000

product name
fruit

SALE[0] REFUND[1]

TERMINATE[3]

ommand :
P0O5] cancel success!

Touch Screen

: 1000
: 1000

product name
=nack

SALE[O] REFUND[1] sTOCK[2]

TERMINATE[3]

[ ] Are you sure that you wnnna this?(y, n)
Segmentation Tault (core dumped)

~/teamb




5.3 Test Result (2_000~2_001)

Touch

TERMIMNATE

TERMINATE[3]

<2_000_002>



5.3 Test Result (2_000~2_001)

Touch Screen

: 2017.11.2
Tist - refund
: 10000

product name

snack

ice-cream

fruit

water

ramen

drink

coffee

SALE[0] REFUND[1]

TERMINATE[3]

command :

<2_000_003>

| Touch Screen
i

|receipt code : 2
|date : 2017.11.2
| product Tist - refund
| refund : 10000
product name
snack
ice-cream
fruit
water
ramen

coffee

SALE[0] REFUND[1]

TERMINATE[3]

goTTand:|

|

|

|

|

|

] .
| drink
|

i

|

i

|command: |
| [ERROR] Invalid value
|
i

<2_000_004>

[
| Customer Screen
L

|receipt code : 201711222043
|date : 2017.11.22

|product Tist - refund
|refund : 10000

| product name
| snack

| ice-cream

| fruit

| water

| ramen

| drink

| coffee

L

I
Touch Screen
L

amount : 1000
money : 1000
change : 0

product name
snack

| SALE[0] REFUND[1]
L

TERMINATE[3]

command :
[ERROR] Invalid walue

<2_000_005>




5.3 Test Result (2_002~2_006)

2_002_000 Passed
2_002_001 Passed
2_003_000 Fail (0012 EOfSED SHEMS B2 total refund?t B HE]
2_003_001 Passed
2_004 000 Passed
2_005_000 Passed

2_006_000 Passed



5.3 Test Result (2_002~2_006)

£ refund_201711210141 b
<2_002_000>

£| refund_201711221157 ¢t

<2_002_001>

T

]
(=]
]
e}

Ji}
[nx]

7 20171122_product txt - HER

HN@Q) 27w S2TH)

- el X
) 20171121 _product ixt - HEE HE® BEG
TeE BEEO M40 2W E2EM) [orodect]
[[product] [price] [code] [volumel ice-cream

snack — 1000 oo 01 - fruit

ice-crean water

fruit 3000 il 100 vanen

water 500 100 100 drink

ramen 800 m 100 i

drink 1200 110 100 toltee .
coffee 2000 M 100 total sales - O

total sales © 0
total refund = O

<2_003_000>

total refund :

<2_003_001>

1500

300

10000

[price]
1000

3000
500

1200
2000

[codel]

oo

a1

[volume]

101

101

101

101
101



5.3 Test Result (2_002~2_006)

Touch Screen

count nam price
1 =nack

1000

REFUND[1] TERMINATE[3]

refund_201711210141 &4 - HEH

mEE BHED M40 2N EEZ2H
receipt code @ 20017.11.20.21.17%

date © 2017.11.21

refund product |ist

[prdouct name] [price] [count]
snack

refund amount - 1000

<2_006_000>




5.4 Test Result (3_000~3_003)

Id

3_000_000
3_000_001
3_001_000
3_001_001
3_002_000
3_002_001
3_003_000
3_003_001
3_004_000

Result

Fail (&& Ltg, o =5 DIt0|

Fail(")
Passed

Passed

Fail (&7|=7

_ -

Fail (&7]=2}7
Passed
Passed

Passed

Lt
=

R7F KLt Af =

AH A O} |

O O L

)



5.4 Test Result (3_000)

Touch Screen d| 2':‘ :'” 1 EE_pFEdLII:ttxt :: 7-17 ':: EE -":——
| 20171120_sale_management.txt 207-11-2
| stock_2017112000d 2017-11-20 2% 744
| sale 201711202200.t4 2017-11-20 2= 744

100 | 20171120_product.txt 2017-11-20 2% 7:44

100 | 20171120 sale_management.txt 2017-11-2
REFUND[1] STOCK[2] TERMINATE[3] Stlitk 20171120 bt 2017-11-20 o= 744
| sale_201711202200.504 2017-11-20 2% 7:44

posSystem exe 2017-11-15 278 11:22

7 =

| 20171121 _product.txt 2017-11-20 2% 7:38
date : 2017.11.21.05.33 | 201711 2‘_sale_management.txt 2017-11-20 2% 758

sale 201711210525.64 2017-11-20 2% 7:58
| stock 20171121 & 2017-11-20 2=

| 20171121 _product txt 2017-11-20 2%

| 20171121 _sale_management. txt 2007-11-2

| stock 20171121 &t 2017-11-20 2% 7:58

| sale_201711210525 0 2017-11-20 2% 7:58
2= 805

<3_000_001> A G A 0171120

REFUND[1]

command :




5.4 Test Result (3_001)

prod

REFUND[1] ] TERMINATE

REFUND[1]

<3_001_001>



5.4 Test Result (3_002)

Touch Screen Screen

date : 2017.11.24.02.40 : 2017.11.20.20.10

product name voTlum product name volume
| snack 100
|1CEfCFE‘3T |1ice-cream 100
|fruit |fruit 100
water |water 100

| ramen 100
|drink 100

| coffee 100

L

REFUND[1] TERMINATE[3] - .
REFUND[1] TERMINATE[3]

command: |
command :

<3_002_000>

Touch Screen Touch Screen

date : 2017.11.20.22.48 date : 2017.11.20.20.17

product name volum product name volume
snack 100
1ce-cream 1 N 100
fruit i 100
water 100
ramen . 100
drink : 100
coffee 100

SALE[O] REFUND[1] TERMINATE[3] REFUND[1] TERMINATE[3]

command :

<3_002_001>




5.4 Test Result (3_003~3_004)

MINUS[-] JARCODE [code]

nwalid value
= ¢ 1f you stop this action, enter

stock 201711210t - HZ2E

STOCK[2] TERMINATE[

oaE #H#EE A4 27 =ES2H
date - 2017.11.21.11.13
[product] [price] [code] [volume]
snack 1000 o1
ice—creamn 16500 oo 100
fruit 3000 o1 100
water 500 100 100
ramen 300 101 100
drink 1200 110 100
coffee 2000 111 100

<3_004_000>



5.5 Test Result (4_000~4_004)

Id Result

4_000_000 Fail (S7[=2t7t 2HE)

4 001_000 Fail (RIS 2 -G X| fon Tof = X0 =215 Sjof g )
4 001_001 Fail (")

4 001_002 Fail (")

4 002 000 Fail (S4F ThO0| X522 X g3)
4 _003_000 Passed

4 003_001 Passed

4 003_002 Passed

4 003_003 Passed

4 004 000 Fail (&4 X| =

4_004_001 Fail ()



5.5 Test Result (4_000)

100

TERMINA

<4_000_000>



5.5 Test Result (4_001)

Touch Screen =| 20171120_product.fxt 2017-11-20 2% 8:21
=| 20171120 _sale_management.txt 2007-11-20 2= 2:21
=| stock_ 2017112004 2017-11-20 2= 3:21

100
100

100 =| 20171120_product ot 2017-11-20 2= 821
100 5| 20171120_sale_management.txt 2017-11-20 2% 8:21
100 S| stock_20171120.txt 2017-11-20 2= 821
REFUND[1] STOCK[2] TERMINATE[3] [ posSystem.exe 2017-11-15 @F 1122

2= 824

2017-11-20

7 = dx A

<4_001_000>

=| 20171120_product.txt 2017-11-20 2= 8:21 -| 201717120_product.txt 2017-11
-| 20171120_sale_management.txt 2017-11-20 2= 8:21 =| 20171120_sale_management txt 2017-11
=| stock_20171120.t 2017-11-20 2= 271 =| stock 2017112004 2017-11

[] posSystem.exe 2017-11-15 2F 11-22 [] posSystem.exe 2017-11-15 @ 11:22

2017-11-20

<4_001_001> <4_001_002>



5.5 Test Result (4_002)

Touch Screen

100
100
100
100
100
100

REFUND[1] [2] TERMINATE[3]

<4_002_000>

| 20171120 _product txt

| 20171120 _sale_management.bd
| stock_20171120.0d

| sale 201711202150 ¢t

| 20171120 _product bxt
| 20171120 _sale_management.txt
| stock_20171120.6¢
| sale 201711202150 b
B=| posSystern.exe




5.5 Test Result (4_003)

Touch Screen | 20171120_product txt 2017-11-20 2% 850
amount : 1000 | 20171120_sale_management txt 2017-11-20 2= 8:50
i=| posSystem.exe 2017-11-15 23 1122

duct name price
ck 1000

D= 851
20017-11-20

7 S g A

ADD[+] MINUS[-]

* 1 1f you stop this action, enter "guit’

<4_003_000>

| 20171123_product ixt 217-11-20 2 &

| 20171123 _sale_management.txt 2017-11-20 2%

| sale 2017112312106 2017-11-20 2%

| seftle 20171123 2017-11-20 2= 3:58
| 20171120_product. b 2017-11-20 2% 8:50
| 20171120_sale_management.txt 2017-11-20 2% 5850

<4_003_001>



5.5 Test Result (4_003)

20171123 _product =t 2017-11-

| 20171123 _sale_management t«t 2007-11-

| sale_ 2017112312108 2017-11-

| settle 20171123 =t 2017-11-20 2= 858
coune | 20171120_preduct txt 2017-11-20 2= 8:50

20171120 _sale_management txt 2007-11-20 & 8:50

20017-11-20

REFUND[1] 5 TERMINATE[3]

<4_003_002>

20171125 product txt 2017-11-20
| 20171125_sale_management.txt 2017-11-20
| refund_201711251730.txt 2017-11-20
| settle_20171125.txt 2017-11-20
|| 20171123 _product txt 2017-11-20 @
|| 20171123 _sale_management txt 2017-11-20
| sale 201711231210 4t 2017-11-20 £
| settle 20171123 txt 2017-11-20
| 20171120 _product bt 2017-11-20

=1

= 906

2017-11-20

<4_003_003>



5.5 Test Result (4_004)

) settle 201711234xt - HEE
LtEFE EHEE MAO ESN ESEH

date : 2017.11.23.12.10
sale |ist

s_code - 201711231210
total sales - 1000, count : 1

refund |ist
total refund : 0, count = O

<4_004_000>

| settle_20171125 txt - HEH
OoreE =HEE MY 27N EEZH

date @ 2017, 11.25.17. 46
sale |ist
total sales - 0, count - O

refund |ist
r_code @ 201711251730
total refund : 1000, count :© 1

<4_004_001>






